Series : Z5YWX

T .
Roll No.

(IIIIIIT]

e 0o

e

() v Site 3R o foh 36 92499 ¥ Jfsd 98
27 % |

(ID) S | =i g1l sht 3R T T 993-0f
g ! el IT-GRashT % FE-I8 W
o |

(IT) 9T S L o Toh 39 T-9 H 34 T
€|

(IV) Suar I99 &7 IW TG T 36 & o

&

“®collegebatch com

SET~3

I9I-UF i

oo 58/5/3)
qlieqrefl S0 i Rl ST-gRAe ¥
TG-S W ey fod |

Candidates must write the Q.P. Code
on the title page of the answer-book. 4

NOTE

Please check that this question
paper contains 27 printed pages.

(D

(II) Q.P. Code given on the right hand
side of the question paper should be
written on the title page of the

answer-book by the candidate.

(ITI) Please check that this question
paper contains 34 questions.

(IV) Please write down the Serial

TEd, w_gﬁaem T AT TATT 9T I99 Number of the question in the
T HHTEH 79T o | answer-book at the given place
before attempting it.
(V) 6 Y- ! Ue & fo1u 15 e s gmar| (V) 15 minute time has been allotted to
. R gt read this question paper. The
faam mm = | s N Ll question paper will be distributed
10.15 s foRm Sm@m | 10.15 S @ at 10.15 am. From 10.15 a.m. to
10.30 s a% el shaer Y999 i 10.30 a.m., the candidates will read
‘ safr ¥ O fidof] the question paper only and will not
T IR T i ,%ﬁ gl S write any answer on the answer-
T IS I L ford | book during this period.
#
Sorl A
= ECONOMICS
TR a9% : 3 502 37fehaH 37 - 80
Qime allowed : 3 hours Maximum Marks : Sy
58/5/3 1| Page =45 P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

T 3597
AT 144311 %1 SATYdl Yigq TR 31 YT Fiforg

(1)

TG YH-IA G 34 T 8 | Nt I3 AAaTH 8 |

“®collegebatch con

(i) ¥ -4 g1 GUEl H fao1iSra 3 -
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@Ug @ - YA 371ffF fammg

(iii) 39 -9 H 20 Tglahed1d JHR % J97 8 | Toeh T 1 S H 3 |

(iv) 39 Y97 4 4 TR YFN-1 & 24 & | JoI% Y24 3 3l &1 & | §9 FH & IW
60 G 80 31ss1 H o1& ST =113 |

() TG YT H 6 TSR YFR-II & T & | II% T2 4 37l 1 & | §9 YA & I
80 T 100 3131 § fo1d S I115T |

(vi) 3G YT H 4 AI-ITT JHR F 97 8 | IAF I3 6 37 H1 8 | 37 I & IW
100 8 150 3131 8 ford ST I11=T |

(vii) A% 97 % HT YT & ST T 919 Tor@ < =1=T |

(viii) 9 STfaferd, €1 3 foh gIRaTiera Themieal & 1o7q Biet a1 e, 37fa ST J9H1 &%
TYT T T 37 I 1971 771 8 | 39 I91 & I ahacd givaniera wiienef & ford |

(ix)  S¥-99 H HI3 GHI faeheq 781 8 | TefY, F Je1 § HIdRF fashed 1 JagH 1a21 7 3 |
3T Y991 8 G Shacd T &1 J97 o7 S forar 57 |

dus <h
TATY 79T

1. 1 & forgid & Aaid, “Hed W (Reference line) ﬂﬁﬁgﬁ FHI0T T

it ST ATt e Heft @ 2 |
(kT <1 g o foTq Het forshed 1 == hifTY) 1

(A) 25°
(B) 45°
(C) 55¢°
(D) 175°
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv)  This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
1. Under the Keynesian theory, ‘Reference Line’ is a straight line passing
through the origin drawn at an angle of
(Choose the correct option to fill in the blank) 1
(A)  25°
(B) 45°
(C) 55°
(D) 75°
58/5/3 # 3| Page =45 P.T.O.
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2. 2023 — 24 % HE1T SIS H T AKS! h IFIAR, TR 1 Fel THAT (ROT
HIRH) qAT FoT T A T 20 AT FS AT T 45 ARG FG SFIATHA & | 3
HTE 1 IeI T 25 AT HUS BFTI |
(kT <h1 gfef o ToTq wielt forshed 1 =R IRNT) 1

(A) TS
(B) USRI
(C) SUUR
(D)  wTfHeR
3.  Timfafad soml ol samgees ufeu : 1

FT 1 HHia a9 SgRd (MPC) S ST 39hTS ST Rl F&RId hLar ¢ |

FIF2 . Q- et 331 T U A | g Bl 8, STHT H AT IR o
T A g & 377k el 2 |

faw T sherT o 3TTeties |, FfeTRad | & gt foehed o1 =i hifse

(A) FIT 1T S IANFAT 2 IR |

(B) I 1IGILINFHIT2TIE |
(C) FHIT1INM2IATIE |
(D) HIYT1 323 AHTE |

4. fref fydefr srfemen #, T I SigHT o g
Tt R STgeRar 2 | (kw21 <61 afd o foTe @&l forehed 1 <M INE) 1
(A) 399, e
(B) fawr, =@
(C)  3UvIT, =
(D) =4, fafa
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2. According to the data presented in the Union Budget 2023 — 24, the total
receipts of the government (other than borrowings), and the total

expenditure are estimated as ¥ 20 lakh crore and ¥ 45 lakh crore

respectively. Therefore, the value of deficit would be ¥ 25 lakh
crore. (Choose the correct option to fill in the blank) 1
(A) revenue

(B) fiscal

(C) trade

(D)  primary

3. Read the following statements carefully : 1
Statement 1 : Marginal Propensity to Consume (MPC) exhibits the

consumption per unit of income.

Statement 2: As the national income of a country rises, the
proportionate increase in the consumption is always more

than the increase in the income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

4, In a two-sector economy, Aggregate Supply can be determined by adding

and

(Choose the correct option to fill in the blanks) 1
(A)  consumption, investments
(B) investments, savings
(C)  consumption, savings

(D)  savings, exports

58/5/3 # 5| Page =45 P.T.O.
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5.  TmfaRad el w0l emgees ufeu : 1
FHYT 1 Tord TR & o foesft gemar (Foreign aids)ﬁﬁmmﬁgl
Fo72 . Taftaw & wer it uferafen 8w o awd 2 |
fou T AT % 3Tedtes |, EfeiRad § & gt faeres o1 = Fifse

(A) FIT19I LI HAT 2 IR |

(B) I 1IGILIANFIT2TIE |
(C) FAT13IMNM2IA TR |
(D) HIT1IN2IA IAHT L |

6.  Timfafiaa o & 3 fufa i wg=nfag, ST fordl T & s Sdei (BOP) @id H <Te]
QTd R (CAS) =l 3 ST 7 | GHAEEREARCRERCA IS I
(A) =] @Td Sl STTHAT ST <] @Td o STAHI 9L AT
(B) =Tl @Td 3t WTHRT & =I1e] @Td o YA H SHId
(C) ST o WA ol =Te] WTd 3 SR 9T AT
(D) ST @I o WA ol YSil @ shi SRR O ARy

7. 9NN YR W S qed g (NVA, ) T 98 I 0 6 {8, SR qed W qehdd

aRId g (GVA,p) B 8 El ST =T |
(o Tt =61 gfd o fore @&l forered o1 <M hiNE)
(A) Hc\vq‘él%l,vl\ls,l (B) WU, UM
(C) & 3T Y, TTAT (D) Q\Ijos\i‘}iblcq&lw,vl\lgl
8.  uEdM i fof, fmfcTRad # & -1 U wraifeh o ohi Afvid 781 a2 | 1
CHACETREIRE PRSI

(A) TN ERI 3T HUY Y H:3[eeh Eeh (i)
(B)  OFT ST Y&t T&1T Tl

(C) Tt =afer g trd foohe 1 h

(D) el STt it TRUTietehT R MU T &8 (Street light)

58/5/3 # 6| Page =



“®collegebatch con

5. Read the following statements carefully : 1
Statement 1 : Foreign aids are the capital receipts for the government.
Statement 2 : Disinvestments may lead to a decrease in the assets of the

government.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
6. From the following, identify the situation which indicates the Current
Account Surplus (CAS) in Balance of Payments (BOP) account of a
nation. 1
(A)  Excess of receipts on current account over the payments on current
account.

(B)  Equality of receipts on current account and payments on current
account.

(C)  Excess of payments on current account over receipts on current
account.

(D) Excess of payments on current account over receipts on capital
account.

7. To arrive at the value of Net Value Added at Market Price (NVA, ),

must be to/from Gross Value Added at Market Price
(GVAp)- (Choose the correct option to fill in the blanks) 1
(A)  depreciation, added (B) depreciation, subtracted
(C)  net indirect taxes, subtracted (D) net indirect taxes, added
8. Identify, which of the following does not represent a public good. 1
(Choose the correct option)
(A)  Free vaccines provided by the government
(B)  Defence services provided by the military
(C)  Purchase of railway ticket by an individual
(D)  Street light installed by a city municipality
58/5/3 # 7| Page =45 P.T.O.
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9.  foraxft ferfrery ax frrerieor o | o qfd <hY TSR wrferat ferferear <2 womreft <
Jiaiid Gfshg 9 & I f3ham il § |
(kT <l gfdd o forq @@l forshed 1 =R INT)
(A) T (B) =
(C)  yeifera fawet (D) R fowet

10. HAfARad el i e 9oy ; 1

FIT1:  SFATThIARRT A h SR, ToRelt Tg T Frs ook T (Repo) T H TG
FLEHATR |

FIF2 ;. WEHR G ISR § WHR Sfavfadl (G-Sec) o 3 g Saehifaeril
A ol hH HL Tehe ] & |

feu 7w oMl o 3ATATe |, FREfafgd § 9 g8t foshed o1 ==a hifsig

(A) AT 1T 8 AN FHIH 2 AL |

(B) U1 AT AP 2T ¢ |

(C) FYT1IN2IAEAR |

(D) AT 12T AT & |

11.  “¥Rd o 3T(eh Heeor 2022 — 23 & ATER, Y-TSHI{dsh T o Tgwia s Hor
3Tk o U o AU el H e g8 off | 37 N ht werErdt giiRed w5 o fag
S F IoiToh IUGH 1 HTILIHAT H Tl 8% off |”

foU T Ty 3 TR W, GTRR o 311 Sie 38 hi U8 o SIREAT shifSlu | 3
12. (%) ¥ Ifg faf & siqid, T S % SAreRe | EellRid =R ol S
I | 3
araT

@) HEfafad sredfies Hieagl & HTUR 9, 2020 — 21 I LR 99 HHd 8, a9
2022 — 23 W STl Hehl =X 3cd@ (GDP) # Wi giterdd sht TomHT

i | 3
@t TS T HIE H)
ELT ATHHTA Gehed | ATHHTA Gkl ic] 3418
W IR | (ATAR T % HAl
TR GHAIII)
2020 - 21 3,000 5,000
2022 - 23 4,000 6,000
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9. Market forces of demand and supply, actively interact under
exchange rate system to determine the foreign exchange rate.

(Choose the correct option to fill in the blank) 1

(A) fixed (B) flexible
(C) managed floating (D) fixed floating
10. Read the following statements carefully : 1

Statement 1 : During deflationary gap, the Central Bank of a country
may increase the repo rate.

Statement 2: The government can reduce the deflationary gap by
purchasing Government Securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

11. “As per the Economic Survey of India 2022 — 23, due to the outbreak of
geopolitical conflict, the result was higher international prices for
fertilizer and fuel. Thus, there was a higher fuel and fertilizer subsidy
requirement for supporting the people.”

On the basis of given text, identify and explain the indicated objective of

the government budget. 3
12. (a) State the steps pertaining to the estimation of National Income,
under the Value Added Method. 3
OR

(b)  On the basis of the following hypothetical data, calculate the
percentage change in Real Gross Domestic Product (GDP) in the

year 2022 — 23, using 2020 — 21 as the base year. 3
(All figures in T crore)
Year Nominal Nominal GDP (Adjusted
GDP to Base Year Price)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000

58/5/3 # 9| Page =45 P.T.O.
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13.  FAfIRead Ter T SmYEeh 3TEa shifsg :

Teh AT H, GHT AT H Ieoig- 1 T 3, 237 oh Wi sht forehmd §TeTeTl o sIX

T At Seo= o & € | g7 e w0, el & fovamw § gfg e qur snfde

Tfferter ol TieaTed i oh foTq WrHifaes ST sht deehlel ATIIAhdT ohl {GiTohd ohid]

2|

ST T TAT A JH 6 TGN T, 37 ITRT HI AT HINC e TR HieE

feorfa 1 fRem v o fow s T 2 | 4
14. (F) “2023 — 24 & WA, US $ 70-9 Bn & Teaer faezft f4asr (FDI) siqatz a

US $ 324 Bn & Y€ foa3il qidwiferal fawr (FDI) sidais & |19 wRd

steferaeT # dfisr aiad 1 SV R T g |1
(i) 39h AT = o Wea FHR T ST | 2
(i) VAT S o fohd @Td § IWIh Hal i asi TR ST o i ? 2
HAAT
(@) AT HIRNT foh, T oiH-a7 fhe JohR THRISH o941 8 =T 8Id 2 | 4

15. M TS foh 31 shieqi-en STefeaeetsti A 9 B o fore, €iHid SusiT ygfd (MPC) &
T ShUTT: 05 AT 0-8 & |
AT rderEarsli & fu, @rRM Ui (T) = ¥ 400 FOE @ qur fAew
= (1) =% 2,000 TS § |

fFaferRaa & orr Fifste
(h) TFITEAT A o T 3T T 99 & (Break-even level) | 2
(@)  refegeeT B % foTT ST sh1 ddeid & | 2

16. () “frell g #, Ml slie demem, gewe sniie afdfafrr daeT i
gfaersHes a9 & fou fafama & ues feor ooy @ At smrar 2 17

A

2T o e SRl o e 7 == i | 3
(@)  HET M & M, W9 1 372 F BZehi o1 e hifsT | 2
() T Uk 3T T R R o feafa | 1
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13. Read the following text carefully :

In an economy, a significant reduction in Aggregate demand raised
concerns about future growth prospects of the country. This economic
downturn underscores the urgent need for strategic measures to boost
confidence of households and stimulate economic activities.

Based on the above text and common understanding, explain the
measures which the government may take to stabilise the indicated
situation. 4

14. (a) “The Indian economy has witnessed a sharp turnaround during
2023 — 24 with Foreign Direct Investments (FDI) inflows of
US $ 70-9 Bn and net Foreign Portfolio Investments (FPI) inflows

of US $ 32:4 Bn.”
(1) Distinguish between the above mentioned economic
variables. 2

(i) In which account of Balance of Payments will the given

variables be entered and why ? 2
OR
(b)  Explain how Accommodating Transactions differ from Autonomous
Transactions. 4

15. Suppose for two imaginary economies A and B, the value of Marginal
Propensity to Consume (MPC) stands at 0-5 and 0-8 respectively.
For both the economies, Autonomous Consumption (¢ ) = % 400 crore and

Investment Expenditure (I) =% 2,000 crore.

Calculate the following :

(a)  Break-even level of income for Economy A. 2
(b)  Equilibrium level of income for Economy B. 2
16. (a) “In a country, routine economic operations rely on a stable

medium, to facilitate transactions for maintaining smooth
economic activities.”

Discuss briefly the indicated function of money. 3
(b)  State the meaning and components of M; measure of money
supply.
(c)  State the formula to compute Credit Multiplier. 1

58/5/3 # 11| Page =45 P.T.O.
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17. (&F) (1) Tt s o 20 U ufamdt (flyovers) o oo & steferaen & gt
BT 301G (GDP) o 1o W EHTIId THTell shl STt <hIfSTT | 2

(i) 9 ST for, Tk seafdes srdeaeen A had T & A, B3R C 2 |
e Afera gwRmafer o vE, 3% g fmfeifigd daea fru o 2
() %4 A9 %H BT 2,000 79T HH C ¥ 1,200 o He T HTA

forsrar fopaa |
(II) %4 B %4 AT 1,100 791 %4 C I 3,500 3 He T HTA
IEERREDIN
(IID) ¥ C = &% 1 31 % 5,700 % HI o HISA T JHTH ITHIT o A
ferskar fopaa |
T[S AT FU H AT T 200 HH Y, HET ARG W Fhel 1]
SeTE (GDPy, ) o e T A AT | 4
reraT
@ @) o Iavn ad s weRfa a1
9 e O U T e o1 Tued A1 Wed FifS | 3
(i) o T SAThel & ATUR W, THT A (NNP, ) & qe 1 SFIAM
[NRLLEL 3
%.9. TS afir
RFIS H)
) Ee] 3THIT I 1,800
(ii) | 9hcT AT Tt it oy 1,150
(iii) | Gohel SATETH Hwior = 1,020
(v) | OCRRT Sifas ST =1 2,170
(v) | Tla o eTmma =t mfererr 720
(vi) mﬂ'ﬂﬁ (Inventory) IEEN 540
(vii) | ToheT HTasTi=eh =T 1,300
(vidi) | 5 STICT 240
(ix) | Toreetl & 9TH 3 e 3 (=) 250
(x) | Tritash s sav 440
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17. (a) (1) Explain the likely impact of construction of 20 new flyovers
in a nation on Gross Domestic Product (GDP) and welfare in
the economy. 2
(i1)  Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were undertaken by them :
D Firm A sold goods worth ¥2,000 to Firm B and
1,200 to Firm C.
(I)  Firm B sold goods worth ¥1,100 to Firm A and
¥ 3,500 to Firm C.
(ITT) Firm C sold to households for final consumption, goods
worth T 5,700.
Estimate the value of Gross Domestic Product at Factor Cost
(GDPp), assuming the value of Net Indirect Taxes to be
% 200. 4
OR
(b) () “All consumption goods are durable in nature.”
Defend or refute the given statement with a valid argument. 3
(i1) On the basis of the given data, estimate the value of
National Income (NNPp) : 3
Amount
S.No. | Items (in % Crore)
1) Household Consumption Expenditure 1,800
(i1) Gross Business Fixed Capital Formation 1,150
(1i1) Gross Residential Construction Expenditure 1,020
(iv) Government Final Consumption Expenditure 2,170
(v) Excess of Imports over Exports 720
(vi) Inventory Investments 540
(vii) | Gross Public Investments 1,300
(viii) | Net Indirect Taxes 240
(ix) Net Factor Income from Abroad (=) 250
(x) Consumption of Fixed Capital 440
58/5/3 # 13| Page =45 P.T.O.
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LCLERC
TRAT arfde e

18. U= hIfSTT foh, TITaRur o hil o Hew | f-fifgd § & SiH-97 o sraea & ?
(T forcd FITA FINT) 1

(A)  YFTeROT ST SUTSY AT & |

(B)  UHTaoT 3194 ! STEINTET AT R |
(C)  wTaRoT Sfia 3T IS0 HLdT & |

(D)  TATeoT Sffa T TUrET 3T &7 a1 & |

19. e oMt — AR (A) 3T HIT (R) T 3T hINT |

i few e foereat 9 O w2t farehed st == i - 1
I (A) : 1991 | TR fop U forefter &=t el o 3favid, steni # foraeht feer st
THT T 74% b TT 21 TS o |
FRT(R) ;1991 % IWiq, faeeft dwemra Fasmert (FIls) ot Y fodiar s
o ferer sF T oTAfa T €S oft |
IEETE
(A)  AMNYFAT (A) 3R RO (R) SFT T & 99T R (R), 3AThe (A) FH Tt
AT FAT |
(B) IR (A) 3R HROT (R) ST TcT & Tiiohd SRVl (R), 3R (A) i @l
AT 78T AT & |

(C) AT (A) TT &, Aok HIUT (R) T # |
(D)  SAMRAT (A) 31 B, AR RO (R) TA L |

20. “HW ST foh, Tk Hreuien Helsgaen ardfaess el @il 3cae (GDP) H gfg
i Rerfar 1 17w X T 8, STaIfer srefoaea § USFIR o 1ol § wate i e &

w@e” 1
e feufa oy, anifeler wor et & Jfg FET AT 2 |
Tk T <h1 fd o foTq wielt fershe <Al <RI hfSTY)
(A) 1f9¥d (Casual) (B) MU=
(C) o= (D)  USTR T
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SECTION B
Indian Economic Development

18. Identify, which of the following statements is incorrect about the
functions of environment. (Choose the correct option) 1
(A)  Environment provides resources.
(B) Environment absorbs wastage.
(C)  Environment sustains life.
(D) Environment deteriorates quality of life.
19. Read the following statements — Assertion (A) and Reason (R).
Choose the correct alternative from the options given below : 1
Assertion (A) : Under the financial sector reforms introduced in 1991,
foreign investment limit in banks was raised up to around
74%.
Reason (R):  Foreign Institutional Investors (FIIs) were allowed to
invest in Indian financial markets, post-1991.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
20. “Suppose an imaginary economy is experiencing a situation of rise in
Real Gross Domestic Product (GDP), without any corresponding adequate
rise in the employment opportunities in the economy.”
In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank) 1
(A) Casual (B) Informal
(C) Formal (D) dJobless
58/5/3 # 15| Page =i P.T.O.
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21.  TmfaRad soml sl eamgees ufeu : 1
o 1 Tsifewr At & FROT IRATS seferaea % fodtas o g ae § S=
HET H USATR YT g7 T |
FIT2 ;. INUMHANRTH GERR o TEHTHT i o TR skl ITEdfaeh 39 T
fedt ot AmTfeard SR o |
feu U oMl o 31T |, FREfafgd § @ g2t foshed o1 ==a fifsig
(A) FAT1HIE AN FHIT2 IFIR |
(B) U133 ANFIT2TTE |
(C) F1IAN2I TR |
(D) U 13N 2T A2 |
22. TIFIRad oAl I TS UfeT : 1
F99 1 HER FA FAdH G0 4o (MSP) W T 71T Wrer= & 37 i T
EhFEIH @AM |
FIYT2 ;.  IAAH queT ged (MSP) FN Ie1e gt § forelt oft offer fiRree o foeg,
! ] L& JaTH FLAT § |
feu U oMl o 31T |, fAEfafad § 9 g8t foshed o1 = s
(A) FIT1TTE A FHAT 2 3T T | B) FHIT1ATILINFIT2HAR |
(C) FIT1IRN2TATTE | (D) FHIYT 1323 ATTE |
23.  TIIRad s o1 eaqeish STea il ; 1
fufsra snfeler yomeft
% _,E
E gad B shifd
4
?
Frefafaa o @ 38 w9t foesrea &1 =99 AT, S 1947 1 7= & SWd 9Rd o
ITfeREaT =t et o Tamare = g T g (@& forereq = =F Fif)
(A) el shma- et Hif (B) R TRl
(C)  TTq Wi (D)  WEH GeRT HiEahiceh shifd
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Read the following statements carefully : 1

Statement 1 : The British policies led to huge employment generation in
the secondary and tertiary sectors of the Indian Economy.

Statement 2 : The real motive of the colonial government’s infrastructural
development was to benefit interests of India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Read the following statements carefully : 1

Statement 1 : The purchase of food grains, made by the government on
the Minimum Support Price (MSP), is maintained as buffer
stock.

Statement 2 : Minimum Support Price (MSP) safeguards the farmers
against any sharp fall in farm product prices.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Study the following image carefully : 1

Mixed Economic System

Green Revolution

Similarities in Policies of
India and Pakistan

ig

From the following, choose the correct option which indicates similarities
in the policies of India and Pakistan, in the post-1947 period :

(Choose the correct option)
(A)  Dual pricing policy (B) Commune system
(C) Import substitution (D) Great Proletarian Cultural Revolution

58/5/3
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24, GRT THaF AR, T IeR f et wr3caed . & fofaefiso
FETY AATICTR | (kT <A1 g o foT WEt foehed T =R hifSIT) 1
(A)  wEAl
(B) Y Icared
(C) &Rt ETT
(D) USTR

25. fmfcrRad et — 1T (A) 3R FROT (R) 1 ST HIfST |
Tt fow v foaeneat 0 @ o) foere o1 ==H hifSTe 1
SR (A) : AT 59 3= SR (S Top 1871 o Tareear) | eiferd g JTd i
EANIE= DGR

FR (R) : AT YSfl €27k o HRICTAH ST o ToT HeT OX 55 1T ¢ |

forere

(A) AR (A) 3R FHROT (R) IHT 9T & qAT HROT (R), (R (A) FT T
AT FAT R |

(B) 3R (A) 3R HRIT (R) IHT AT &, Tfeh ol (R), TR (A) T Gt
ST 7T T € |

(C) AR (A) A &, Tk HROT (R) I ¢ |

(D)  INTRAT (A) 378 B, Afohd RO (R) T & |

26. TN U I H, A o fifc AT gem _ e ST o foru
“HTeAHET TSR fe=m o |

(foeh T <61 gfd o forq welt forshed ST s fIfSiY) 1
(A)
(B)
C)
(D)

© 00 g9 O
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24. Production of diverse varieties of crops, rather than one specialised crop,
is known as diversification of
(Choose the correct option to fill in the blank) 1
(A)  Crops
(B)  Agricultural Production
(C)  Sectoral Composition
(D) Employment
25. Read the following statements — Assertion (A) and Reason (R).
Choose the correct option from the options given below : 1
Assertion (A) : People spend to acquire information related to labour and
other markets (like, education and health).
Reason (R): Expenditure on information is necessary for efficient
utilisation of the human capital stock.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
26. In the post-independence era, the policy makers of India emphasised on
‘self-reliance’ for the first Five Year Plans.
(Choose the correct option to fill in the blank) 1
(A) 6
B) 7
C) 8
D) 9
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g9 SIS foh, YRA | TTHior SfeT goref! & ded d Fefaiad § 9 SH-a1 %F
AT ? GHAEEEREIRCPEE IS I

(A)

(B)

(C)

(D)

R H THIOT ST SoITedt H Sg-USHet Seeri %1 Ueh SHg aiFAfod 2 |

TEAAT S ST H, YR H Tk gTe &9 § Gfwra warfior sifsr yorredt 6
ferwfor feper e o |

e TTefior Sfeh, weehrt @ sfiy forehrer ek v # wrTeior ST ot % Tesh ¥ |

qd | I ST Jurefl YRA™ T2 d o Anien, FeyH 9 wias &

SaTid 1 Rl 2 |

frefcTRad HATehel =1 ST Fd U, ehcd alRid Hed (GVA) H WRA I TiHed™ 6

&1 FTe w1 forgawor SHifvie | 3
2018 — 19 H USTIR T4 €T aleld T (%) & &A1 331
gahod afefa 7 TIeH F1sIeT T Toa{ur
&‘?ﬂ fa) o
YT i grfaedi | 9Rd Cich CIETSICH
FY 16 7 24 43 26 41
ECIUI 30 41 19 25 28 24
Tar 54 59 57 39 46 35
pluj 100 100 100 100 | 100 100
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Identify, which of the following statements is incorrect about the Rural

Banking system in India. (Choose the correct option) 1

(A) The Rural Banking system in India consists of a set of

multi-agency institutions.

(B) In the post-independence period, a well-structured Rural Banking

system was formulated in India.

(C) Regional Rural Banks, Cooperative and Land Development Banks

are components of the Rural Banking system in India.

(D) The Rural Banking system in India works under the guidance,

instruction and supervision of the State Bank of India.

Using the following data, analyse the sectoral contribution of India and

Pakistan towards Gross Value Added (GVA). 3
Sectoral Share of Employment and GVA (%) in 2018 - 19

Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan

Sector

Agriculture 16 7 24 43 26 41

Industry 30 41 19 25 28 24

Services 54 52 57 32 46 35

Total 100 100 100 100 100 100
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“qd # fofeer sfufAafyes smed & giomeasy YRd™ Tesit e ot
AT T © frafraieor g3 o 1”7

Y qhl g1 TSI o S8t AT shi AT hITSY | 3
7T

“1991 o T R o N R TLHT FRT YA 6l T8 SR S ez
fifer o Tt S o Hel # %o wE ol aftafad o 1
foreal 31 @ ORIt 3 wRdTe srefegaeer X 39k IWmEl W fordr & ==

IS | 3
(1) e G o sk ST o Hed Sa T ey | 3
(i)  eofi e =t aftriya i | 1
ateraT
(1)  TTHIOT G H Ga-O wRish o Hew W Had § quiq hife | 3
(i) 9Rd H 9RO foehe 9Te ot § aftafora ot T Wit 1 Seo@
it | 1

31. fmfaRad e st eayes ufeu ;
T T STIIFET T MedTRd hi o foTe &g fiferra uftads ferg o |
1970 o 331k o 3id # fafer & & < 6t onifdier afig i & oft | BTctifor, s i
3 ST aREde o g sigd efterr et ol off | Wi sht Hewequl srfies Tt
1991 = ik YU o UL & A1ed <Al 718 off, (w2 ASTedl o 0T AW fohart T

qar |

faQ TTC T o WA T o SATUR W, = o AR GRS fohU T Gari o TrE 6
qoT I | 4
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29. (a) “British colonial rule in India resulted into systematic
deindustrialisation of Indian indigenous industries.”
Explain the two-fold motive of the British with valid arguments. 3
OR

(b) “The trade and investment policy initiated by the Indian
Government during 1991 economic reforms involved some major
decision-making with respect to local industries.”

Elaborate any two major decisions and their respective impacts on

the Indian economy. 3
30. (a) (@) Distinguish between human capital and physical capital. 3
(i1)  Define Sustainable Development. 1

OR

(b) () Describe briefly the importance of micro-credit programmes

1in Rural India. 3

(ii) State any one strategy involved in attaining sustainable

development in India. 1

31. Read the following text carefully :
China underwent substantial policy changes to stimulate their economy.

China’s economic growth was rapid in the late 1970s across various
sectors. However, India had to wait much longer for its economic
transformation. India’s significant economic progress was only realised
after the economic reforms of 1991, which were implemented out of

compulsion.

On the basis of given text and common understanding, compare the
impact of subsequent reforms initiated by China and India. 4
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32. I Rl g, SToid J foqa AT shifere foh Fefetfad svem ac € o1 18 -
(F) Tl shifd o ded SRTAHT H STeRawd Jig 83, e Ha 38 &= | foea 7 smoft
T | 2
@) BN 3TN HHIq ekl ol QAT AT ik, TEshl S T1fe S T-TeImTd |
T 0T ITH R | gerfiyehdr < St 2 | 2
33. (F) () A w1 Afd L, Al Arerer § ] e o T, qn e Tt
oft Sreleareree o foTe gurl doram |ford &t wehdl € 17
T AT I T o | FGHA & ? HIA qohl g 310 I Al (Y
Fhifsre | 4
(i) IeorE HIT foh aguafts AR ford TR fEuafa =R & i 2 | 2
37T
@) () R H 3AiF Gri o S T FoRT 1T T Gar o 0N o qROTHI
wEEY § == hifea | 4
(i) 9Rd 9 gresiaer &9 A 78R 9 Uit a1 teh-ueh 3eretn
ST | 2
34. fafafed e @ emEes ufeu ;
o o WTieRT g7 (LFPR) foreft T5g O i 1T afsha &9 8 USTIR sl qamsT
F @ ARRAT & IfIed o A9 § | WA H, 2000 — 2019 & HET 97 5 §
99-2 Taferam =aferalt 1 afa 58 off | o o1t 396-3 fafer @ sgart 495-5 fuferm &
T T |
2012 — 2019 % M, USFIX H THE glg o [oFT 21 o H g8 Ihg 8 SIS o
oIl 8% of |
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32. State and elaborate, whether the following statements are true/false,
with valid arguments :
(a) Under the Golden Revolution there was tremendous growth in
horticulture, making India the world leader in this field. 2
(b) Small and marginal farmers are given preference in getting
credit from non-institutional sources like Regional Rural Banks,
Cooperative Banks, etc. 2
33. (a) (@) “Import substitution policy, if not applied carefully, can be a
double-edged sword for any economy.”
Do you agree with the given statement ? Justify your answer
with valid arguments. 4
(ii)) State how multilateral trade is different from bilateral
trade. 2
OR
(b) () Discuss briefly, causes and consequences of the tax reforms
initiated during economic reforms in India. 4
(i1) State one example each of a Maharatna and a Miniratna
company in the public sector in India. 2
34. Read the following text carefully :
The Labour Force Participation Rate (LFPR) measures the percentage of
the population either employed or actively seeking employment in a
nation. In India, the labour force grew by 99-2 million persons between
2000 — 2019. The labour force grew from 396-3 million to 495-5 million.
During 2012 — 2019, the labour force grew without a matching increase in
employment, leading to higher unemployment.
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T o &TH TSR § A [Teh STHHMAT Scl@q 1T ®, 2022 H AT ht 5| 9 Wiiery
2 (LFPR) 32-8% &, ST fo qeqi sht o1 sct wifier & (LFPR) 77-2%, § T
2 | I8 WA I GHY 3 49 o WIERT & (LFPR) &1 T Y@ &R0 8, S {6
Jfarer 3fted o1 oIet et & (LFPR) 47-3% G &9 # |

2000 — 2019 3 IR, TTHT o7 9 e & (LFPR) & 14-1% 1 fiEe 316 &,
Seifer ITedt & | 3-5% i fivmae 3118 off | 2019 — 2022 % Wed Ig VI YA TE,
Trior 2 oot IEERT @ (LFPR) T 6% (foriwert omior afgermst #) 37t sredt sm
I AfERT & (LFPR) H 2:1% 91 €3 | A diterd a91id & foh afganstl sht o st
qIfierl § SAR-TgTd BidT 2, Toreoert areior &7 7 |

3O THY 49 oA WeRl & (LFPR) 1 b geferd foam 2 | afgemd snfdfe
HISATFAT o SR FHRAeT H A Bidt &, T o GRfEfeat § gar aar g, ar o

e o feher ST 2

few e ey 7 T I % AR W, fAEfefad get o s s

(%)  SRISFIR %l GICATNa shITTT | 1

@) o\ o 9rfERl g (LFPR) &1 319 fafau | 2

(M) 2000 — 2019 & I T T T 29 o Wriert & (LFPR) § @fieh
AT W fevguft HifsT | 3
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The gender disparity in India’s labour market is notable with women’s
LFPR at 32:8% in 2022, significantly lower than men’s LFPR at 77-2%.
This is a major reason for India’s overall low LFPR, which is lower than
the global average of 47-3%.

During 2000 — 2019, rural LFPR declined by 14:1%, compared to a 3-5%
decline in urban areas. This trend reversed between 2019 — 2022, with
rural LFPR increasing by 6% (especially among rural women) and urban
LFPR by 2:1%. These shifts suggest that fluctuations occur in women’s

labour market participation, particularly in rural areas.

This significantly affected the overall LFPR. Women join the workforce
during economic hardships and move out when conditions improve.

On the basis of the given text and common understanding, answer the
following questions :

(a) Define unemployment. 1

(b)  Write the meaning of Labour Force Participation Rate (LFPR). 2

(c) Comment upon the gender disparities in rural and urban Labour

Force Participation Rate (LFPR) during 2000 — 2019. 3
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